



New blow-up criterion for the Degasperis–Procesi equation with weak dissipation

Xijun Deng¹

Received: 5 October 2020 / Revised: 29 October 2020 / Accepted: 30 October 2020 /
Published online: 11 June 2021
© Springer Nature Switzerland AG 2021

Abstract

In this paper, we investigate the Cauchy problem of the Degasperis–Procesi equation with weak dissipation. We establish a new local-in-space blow-up criterion of the dissipative Degasperis–Procesi equation on line \mathbb{R} and on circle S , respectively.

Keywords Degasperis–Procesi equation · Blow-up · Local-in-space · Weak dissipation

Mathematics Subject Classification 35B44 · 35G55 · 37K10

1 Introduction

In this paper, we are concerned with the following initial value problem of the Degasperis–Procesi (DP) equation with weak dissipation [26–28]

$$\begin{cases} u_t - u_{xxt} + 4uu_x + \lambda(u - u_{xx}) = 3u_x u_{xx} + uu_{xxx}, \\ u_0(x) = u_0(x), \end{cases} \quad (1)$$

where $\lambda(1 - \partial_x^2)u$ is the dissipative term with a positive constant $\lambda > 0$.

If $\lambda = 0$, then Eq. (1) becomes the following well-known DP equation [8–10, 19]

$$u_t - u_{xxt} + 4uu_x = 3u_x u_{xx} + uu_{xxx}, \quad (2)$$

which can be regarded as a model for nonlinear shallow water dynamics and its asymptotic accuracy is the same as the Camassa–Holm equation [4]. There is a rather large literature on the research of this equation. For instance, the global existence of strong

✉ Xijun Deng
xijundeng@yeah.net

¹ Department of Mathematics and Physics, Hunan University of Arts and Science, Changde 415000, People's Republic of China

solutions and global weak solutions to the DP Eq. (2) were shown in [22,29,30]. The local well-posedness for the Cauchy problem of DP Eq. (2) was elaborated in [31] for non periodic case, and in [32] for the periodic case. With respect to blow-up criteria on the line and the unit circle, please refer to [16,33]. As for some other issue of integrability, traveling wave solutions, solitons and peakon as well as its stability, please see [5–7,13–15,18,21,23–25] and references therein for more literature about DP equation. It should be noted that the DP equation has its own peculiarities, although it shares some common properties with the Camassa-Holm equation. A specific feature is that it has not only peakon solutions of the form $u(t, x) = ce^{-|x-ct|}$, $c > 0$, but also shock peakon solitons of the form $u(t, x) = \frac{1}{t+k} \text{sign}(x)e^{-|x-ct|}$, $k > 0$. For details, please see [11,12,17].

Recently, Wu and Yin [26–28] studied the blow-up and the decay of the solution to the weakly dissipative DP Eq. (1) on the line and on the circle. They found that Eq. (1) has the same blow-up rate as the DP Eq. (2), which shows that the blow-up rate of the DP equation is not affected by the additional weakly dissipative term. However, they also pointed out that the occurrence of blow-up of (1) is affected by the dissipative parameter λ .

In this paper, we would like to further investigate the Cauchy problem of the weakly dissipative DP Eq. (1). More specially, we rather focus on blow-up criteria as well as the estimates about the lifespan of the solutions. It should be noted here that in the references [26–28], the blow-up condition on the initial datum u_0 typically involves the computation of the norms $\|u_0\|_{L^2}$ and $\|u_0\|_{L^\infty}$. The aim of this paper is to present a new blow-up result for the weakly dissipative DP Eq. (1). Motivated by the works of [1–3], we will establish a new local-in-space blowup criterion for Eq. (1) on the line and on the circle, i.e., a blowup condition involving only the properties of u_0 in a neighborhood of a single point $x_0 \in \mathbb{R}$ or $x_0 \in \mathbb{S}$. We shall see that such criterion is more general than earlier blowup results.

This paper is organized as follows. In the next section we recall the local well-posedness of the Cauchy problem to Eq. (1) on the line \mathbb{R} or on the circle $\mathbb{S} = \mathbb{R}/\mathbb{Z}$, and several useful results from [26–28] which are needed for our purpose. Sects. 3 and 4 is devoted to establishing a new local-in-space blow-up result for Eq. (1) on the line \mathbb{R} and on the circle \mathbb{S} , respectively.

Notation. Throughout this paper, we denote the norm of the Lebesgue space L^p by $\|\cdot\|_{L^p}$, $1 \leq p \leq \infty$. We denote by $*$ the spatial convolution.

2 Preliminaries

In this section, we recall the local well-posedness result of the Cauchy problem to Eq. (1) on the line \mathbb{R} or on the circle $\mathbb{S} = \mathbb{R}/\mathbb{Z}$, and some useful properties of strong solutions to Eq. (1) from [26–28].

Let $m = u - u_{xx}$ be the momentum variable, then Eq. (1) can be reformulated as the form:

$$\begin{cases} m_t + um_x + 3u_x m + \lambda m = 0, \\ u(0, x) = u_0(x). \end{cases} \quad (3)$$

Note that if $p(x) := \frac{1}{2}e^{-|x|}$ for $x \in \mathbb{R}$ (or if $p(x) := \frac{\cosh(x-[x]-\frac{1}{2})}{2 \sinh \frac{1}{2}}$ for $x \in \mathbb{S}$, where $[x]$ stands for the largest integer part of $x \in \mathbb{R}$), then we have $(1 - \partial_x^2)^{-1} f = p * f$ for all $f \in L^2(\mathbb{R})$ (or $f \in L^2(\mathbb{S})$) and $p * m = u$. Thus, Eq. (3) can be rewritten as follows:

$$\begin{cases} u_t + uu_x + \partial_x p * (\frac{3}{2}u^2) + \lambda u = 0, \\ u_0(x) = u_0(x). \end{cases} \tag{4}$$

By applying the Kato’s theorem [20], one can obtain the following local well-posedness result.

Theorem 1 [26–28] *Given $u_0 \in H^s, s > \frac{3}{2}$, there exists a maximal $T^* > 0$ and a unique solution u to (3) (or (4)), such that*

$$u = u(\cdot, u_0) \in C([0, T^*]; H^s) \cap C^1([0, T^*]; H^{s-1}).$$

Moreover, the solution depends continuously on the initial data, i.e. the mapping $u_0 \mapsto u(\cdot, u_0) : H^s \rightarrow C([0, T^*]; H^s) \cap C^1([0, T^*]; H^{s-1})$ is continuous and the maximal time of existence T^* is independent of s .

By the above local well-posedness result and energy estimates, one can readily obtain the following precise blow-up scenario.

Theorem 2 [26–28] *Given $u_0 \in H^s, s > \frac{3}{2}$, the solution u of (3) (or (4)) blows up in a finite time $T > 0$ if and only if*

$$\liminf_{t \rightarrow T} \{ \inf_{x \in \mathbb{R} (x \in \mathbb{S})} [u_x(t, x)] \} = 0.$$

Next, we introduce the particle trajectory $q(t, x) \in C^1([0, T) \times \mathbb{R}, \mathbb{R})$, defined by

$$\begin{cases} q_t = u(t, q), & t > 0, \\ q(0, x) = x. \end{cases} \tag{5}$$

By simple analysis, we can obtain the following result on q which is crucial in the proof of blow-up solutions.

Lemma 1 [26–28] *Let $u_0 \in H^s, s \geq 3$, and let $T > 0$ be the maximal existence time of the corresponding solution u to Eq. (4). Then Eq. (5) has a unique solution $q \in C^1([0, T) \times \mathbb{R}, \mathbb{R})$. Moreover, the map $q(t, \cdot)$ is an increasing diffeomorphism of \mathbb{R} with*

$$q_x(t, x) = \exp\left(\int_0^t u_x(s, q(s, x)) ds\right) > 0, \forall (t, x) \in [0, T) \times \mathbb{R}.$$

Furthermore, we have

$$m(t, q(t, x)) q_x^3(t, x) = m_0(x) e^{-\lambda t}, \forall (t, x) \in [0, T) \times \mathbb{R}.$$

Lemma 2 [26–28] *If $u_0 \in H^s$, $s \geq \frac{3}{2}$, then as long as the solution $u(t, x)$ given by Theorem 1 exists, we have*

$$\int_{\mathbb{R}(\mathbb{S})} m(t, x)v(t, x)dx = e^{-2\lambda t} \int_{\mathbb{R}(\mathbb{S})} m_0(x)v_0(x)dx,$$

where $m(t, x) = u(t, x) - u_{xx}(t, x)$ and $v(t, x) = (4 - \partial_x^2)^{-1}u(t, x)$. Moreover, we have the following norm estimate

$$\frac{1}{4}e^{-2\lambda t} \|u_0\|_{L^2}^2 \leq \|u(t)\|_{L^2}^2 \leq 4e^{-2\lambda t} \|u_0\|_{L^2}^2. \tag{6}$$

3 Blow-up result of Eq. (1) on the line \mathbb{R}

In this section, we will establish a new blow-up result for the solutions to Eq. (1) on the line \mathbb{R} . Our main result can be formulated as follows.

Theorem 3 *Let $u_0 \in H^s(\mathbb{R})$, $s > \frac{3}{2}$. Assume that there is $x_0 \in \mathbb{R}$ such that*

$$u'_0(x_0) < -\sqrt{\frac{3}{2}}|u_0(x_0)| - \frac{\lambda}{2} - C, \tag{7}$$

where

$$C := \sqrt{\frac{\lambda^2}{4} + 3(\sqrt{\frac{3}{2}} - 1)\|u_0\|_{L^2}^2}. \tag{8}$$

Then the solution u of (4) blows up in finite time. Moreover, the lifespan T^* is estimated above by

$$T^* \leq \frac{1}{2C} \ln \frac{\sqrt{u'_0(x_0)^2 - \frac{3}{2}u_0^2(x_0)} - \frac{\lambda}{2} + C}{\sqrt{u'_0(x_0)^2 - \frac{3}{2}u_0^2(x_0)} - \frac{\lambda}{2} - C},$$

Proof Using the identity $\partial_x^2(p * f) = p * f - f$, we take the derivative with respect to x in (4) which yields

$$\begin{cases} u_{tx} + uu_{xx} = -u_x^2 - \lambda u_x + \frac{3}{2}u^2 - p * (\frac{3}{2}u^2), \\ u(0, x) = u_0(x). \end{cases} \tag{9}$$

According to Lemma 1, we can know that the flow map $q(t, x)$ introduced in Eq. (5) is indeed well defined in the interval $[0, T^*)$ with $q \in C^1([0, T^*) \times \mathbb{R}, \mathbb{R})$.

Then we have

$$\frac{d}{dt}[u_x(t, q(t, x))] = [u_{tx} + uu_{xx}](t, q(t, x))$$

$$= -u_x^2 - \lambda u_x + \frac{3}{2}u^2 - p * \left(\frac{3}{2}u^2\right).$$

Inspired by [1–3], we now introduce

$$A(t, x) = \left[-u_x + \sqrt{\frac{3}{2}}u \right] (t, q(t, x)),$$

and

$$B(t, x) = \left[-u_x - \sqrt{\frac{3}{2}}u \right] (t, q(t, x)).$$

Recalling that the kernel p satisfies the identity

$$p = p_+ + p_-, \quad p_x = p_- - p_+,$$

where

$$p_+ * f(x) = \frac{e^{-x}}{2} \int_{-\infty}^x e^y f(y) dy,$$

$$p_- * f(x) = \frac{e^x}{2} \int_x^{+\infty} e^{-y} f(y) dy.$$

Then we have

$$\begin{aligned} \frac{d}{dt} A(t, x) &= \sqrt{\frac{3}{2}}(u_t + uu_x) - (u_{tx} + uu_{xx}) \\ &= u_x^2 + \lambda u_x - \sqrt{\frac{3}{2}}\lambda u - \frac{3}{2}u^2 + \left(p - \sqrt{\frac{3}{2}}p_x\right) * \left(\frac{3}{2}u^2\right) \\ &= AB - \lambda A + \left(1 + \sqrt{\frac{3}{2}}\right) p_+ * \left(\frac{3}{2}u^2\right) - \left(\sqrt{\frac{3}{2}} - 1\right) p_- * \left(\frac{3}{2}u^2\right) \\ &\geq AB - \lambda A - \left(\sqrt{\frac{3}{2}} - 1\right) p_- * \left(\frac{3}{2}u^2\right). \end{aligned}$$

Similarly, we have

$$\begin{aligned} \frac{d}{dt} B(t, x) &= -\sqrt{\frac{3}{2}}(u_t + uu_x) - (u_{tx} + uu_{xx}) \\ &= u_x^2 + \lambda u_x + \sqrt{\frac{3}{2}}\lambda u - \frac{3}{2}u^2 + \left(p + \sqrt{\frac{3}{2}}p_x\right) * \left(\frac{3}{2}u^2\right) \end{aligned}$$

$$\begin{aligned}
&= AB - \lambda B + \left(1 + \sqrt{\frac{3}{2}}\right) p_- * \left(\frac{3}{2}u^2\right) - \left(\sqrt{\frac{3}{2}} - 1\right) p_+ * \left(\frac{3}{2}u^2\right) \\
&\geq AB - \lambda B - \left(\sqrt{\frac{3}{2}} - 1\right) p_+ * \left(\frac{3}{2}u^2\right).
\end{aligned}$$

By using the Young inequality and the norm estimate (6) presented in Lemma 2, we can derive that

$$p_{\pm} * \left(\frac{3}{2}u^2\right) \leq \|p_{\pm}\|_{L^{\infty}} \|\frac{3}{2}u^2\|_{L^1} = \frac{3}{4} \|u\|_{L^2}^2 \leq 3e^{-2\lambda t} \|u_0\|_{L^2}^2 \leq 3\|u_0\|_{L^2}^2.$$

Thus, we have

$$\frac{dA}{dt} \geq AB - \lambda A - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2, \quad (10)$$

and

$$\frac{dB}{dt} \geq AB - \lambda B - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2. \quad (11)$$

The initial condition (7):

$$u'_0(x_0) < -\sqrt{\frac{3}{2}}|u_0(x_0)| - \frac{\lambda}{2} - C,$$

is equivalent to

$$A(0) > \frac{\lambda}{2} + C > 0, \quad B(0) > \frac{\lambda}{2} + C > 0, \quad (12)$$

where we denote $A(t) = A(t, x_0)$, $B(t) = B(t, x_0)$ and C is defined in (8). Hence we can know that

$$A(0)B(0) > C^2,$$

$$A(0)[B(0) - \lambda] - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2 > \left(\frac{\lambda}{2} + C\right) \left(-\frac{\lambda}{2} + C\right) - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2 = 0,$$

$$B(0)[A(0) - \lambda] - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2 > \left(\frac{\lambda}{2} + C\right) \left(-\frac{\lambda}{2} + C\right) - 3 \left(\sqrt{\frac{3}{2}} - 1\right) \|u_0\|_{L^2}^2 = 0.$$

This implies that

$$\begin{aligned}
 A'(0) &\geq A(0)B(0) - \lambda A(0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 > 0, \\
 B'(0) &\geq A(0)B(0) - \lambda B(0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 > 0.
 \end{aligned}
 \tag{13}$$

We now claim that over the time of existence it always holds that

$$A'(t) > 0, \quad B'(t) > 0. \tag{14}$$

If this claim is not true, then there exists $t_0 \in [0, T^*)$ such that

$$t_0 = \min\{t \in [0, T^*) \mid A'(t) = 0 \text{ or } B'(t) = 0\}. \tag{15}$$

It is easy to see from (13) that $t_0 > 0$. In view of (10)–(11) and the definition of t_0 presented in (15), we have

$$\begin{aligned}
 0 = A'(t_0) &\geq A(t_0)B(t_0) - \lambda A(t_0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2, \\
 \text{or } 0 = B'(t_0) &\geq A(t_0)B(t_0) - \lambda B(t_0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2.
 \end{aligned}
 \tag{16}$$

However, we can derive that

$$A(t_0) \geq A(0) > \frac{\lambda}{2} + C > 0, \quad B(t_0) \geq B(0) > \frac{\lambda}{2} + C > 0,$$

since $A'(t) \geq 0$ and $B'(t) \geq 0$ for $t \in [0, t_0]$. Thus, we have

$$\begin{aligned}
 A(t_0)B(t_0) - \lambda A(t_0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 &> \left(\frac{\lambda}{2} + C \right) \left(-\frac{\lambda}{2} + C \right) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 = 0, \\
 A(t_0)B(t_0) - \lambda B(t_0) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 &> \left(\frac{\lambda}{2} + C \right) \left(-\frac{\lambda}{2} + C \right) - 3 \left(\sqrt{\frac{3}{2}} - 1 \right) \|u_0\|_{L^2}^2 = 0.
 \end{aligned}$$

which is a contradiction to (16). Therefore (14) is true for all $t \in [0, T^*)$. In other words, it means that $A(\cdot, x_0)$, $B(\cdot, x_0)$ and $AB(\cdot, x_0)$ are all positive and increasing during the whole existence time $[0, T^*)$.

To conclude the proof, we consider $h(t) = \sqrt{AB(t, x_0)}$. By computing the time derivative of h , we get

$$\begin{aligned}
 \frac{d}{dt}h(t) &= \frac{A_t B + A B_t}{2\sqrt{AB}}(t, x_0) \\
 &\geq \frac{\left(AB - 3\left(\sqrt{\frac{3}{2}} - 1\right)\|u_0\|_{L^2}^2\right)(A + B) - 2\lambda AB}{2\sqrt{AB}}(t, x_0) \\
 &\geq AB - 3\left(\sqrt{\frac{3}{2}} - 1\right)\|u_0\|_{L^2}^2 - \lambda\sqrt{AB} \\
 &= h^2(t) - \lambda h(t) - 3\left(\sqrt{\frac{3}{2}} - 1\right)\|u_0\|_{L^2}^2, \\
 &= \left[h(t) - \frac{\lambda}{2}\right]^2 - C^2,
 \end{aligned}$$

where we have used the geometric-arithmetric mean inequality $A + B \geq 2\sqrt{AB} = 2h(t)$. Solving the above differential inequality, we get

$$h(t) \geq \frac{\lambda}{2} + \frac{C[h(0) - \frac{\lambda}{2} + C + (h(0) - \frac{\lambda}{2} - C)e^{2Ct}]}{h(0) - \frac{\lambda}{2} + C - (h(0) - \frac{\lambda}{2} - C)e^{2Ct}}.$$

It is thereby inferred that

$$-u_x(t, q(t, x_0)) = \frac{A + B}{2} \geq h(t) \rightarrow +\infty, \text{ as } t \rightarrow \frac{1}{2C} \ln \frac{h(0) - \frac{\lambda}{2} + C}{h(0) - \frac{\lambda}{2} - C},$$

which implies that the solution u blows up at a finite time and the lifespan T^* is estimated above by

$$T^* \leq \frac{1}{2C} \ln \frac{\sqrt{u_0'(x_0)^2 - \frac{3}{2}u_0^2(x_0) - \frac{\lambda}{2} + C}}{\sqrt{u_0'(x_0)^2 - \frac{3}{2}u_0^2(x_0) - \frac{\lambda}{2} - C}},$$

The proof of Theorem 3 is completed. □

4 Blow-up result of Eq. (1) on the circle \mathbb{S}

In this section, we shall present a new blow-up result for the solutions to Eq. (1) on the circle \mathbb{S} . Our main result can be formulated as follows.

Theorem 4 *Let $u_0 \in H^s(\mathbb{S})$, $s > \frac{3}{2}$. Assume that there is $x_0 \in \mathbb{S}$ such that*

$$u_0'(x_0) < -\sqrt{\frac{3}{2}}|u_0(x_0)| - \lambda, \tag{17}$$

then the solution u of (4) blows up in finite time. Moreover, the lifespan T^* is estimated above by

$$T^* \leq \frac{1}{\lambda} \ln \frac{\sqrt{u'_0(x_0)^2 - \frac{3}{2}u_0^2(x_0)}}{\sqrt{u'_0(x_0)^2 - \frac{3}{2}u_0^2(x_0)} - \lambda}$$

Proof We employ the same notation as in the preceding proof, but now the Green function $p(x)$ is given by

$$p(x) := \frac{\cosh(x - [x] - \frac{1}{2})}{2 \sinh \frac{1}{2}}, \tag{18}$$

where $[x]$ stands for the largest integer part of $x \in \mathbb{R}$.

As before, we again introduce

$$A(t, x) = \left[-u_x + \sqrt{\frac{3}{2}}u \right] (t, q(t, x)),$$

and

$$B(t, x) = \left[-u_x - \sqrt{\frac{3}{2}}u \right] (t, q(t, x)).$$

Then we have

$$\begin{aligned} \frac{d}{dt}A(t, x) &= \sqrt{\frac{3}{2}}(u_t + uu_x) - (u_{tx} + uu_{xx}) \\ &= u_x^2 + \lambda u_x - \sqrt{\frac{3}{2}}\lambda u - \frac{3}{2}u^2 + \left(p - \sqrt{\frac{3}{2}}p_x \right) * \left(\frac{3}{2}u^2 \right) \\ &= AB - \lambda A + \left(p - \sqrt{\frac{3}{2}}p_x \right) * \left(\frac{3}{2}u^2 \right). \end{aligned}$$

and

$$\begin{aligned} \frac{d}{dt}B(t, x) &= -\sqrt{\frac{3}{2}}(u_t + uu_x) - (u_{tx} + uu_{xx}) \\ &= u_x^2 + \lambda u_x + \sqrt{\frac{3}{2}}\lambda u - \frac{3}{2}u^2 + \left(p + \sqrt{\frac{3}{2}}p_x \right) * \left(\frac{3}{2}u^2 \right) \\ &= AB - \lambda B + \left(p + \sqrt{\frac{3}{2}}p_x \right) * \left(\frac{3}{2}u^2 \right). \end{aligned}$$

For the kernel function $p(x)$ given by (18), we know that

$$p(x) \pm \alpha p_x(x) \geq 0 \Leftrightarrow |\alpha| \leq \coth \frac{1}{2}.$$

Notice that $\sqrt{\frac{3}{2}} < \coth \frac{1}{2}$, so we have

$$\begin{aligned} \frac{d}{dt} A(t, x) &\geq AB - \lambda A, \\ \frac{d}{dt} B(t, x) &\geq AB - \lambda B. \end{aligned}$$

The initial condition

$$u'_0(x_0) < -\sqrt{\frac{3}{2}}|u_0(x_0)| - \lambda$$

is equivalent to

$$A(0, x_0) > \lambda > 0, \quad B(0, x_0) > \lambda > 0.$$

By using similar proof method as before, we can infer that

$$A'(t, x_0) > 0, \quad B'(t, x_0) > 0,$$

that is, both $A(\cdot, x_0)$ and $B(\cdot, x_0)$ are increasing during the whole existence time $t \in [0, T^*)$.

Next, we prove that $T^* < \infty$. Consider $h(t) = \sqrt{AB(t, x_0)}$. Computing the time derivative of h yields

$$\begin{aligned} \frac{d}{dt} h(t) &= \frac{A_t B + AB_t}{2\sqrt{AB}}(t, x_0) \\ &\geq \frac{AB(A + B) - 2\lambda AB}{2\sqrt{AB}}(t, x_0) \\ &\geq h^2(t) - \lambda h(t), \end{aligned}$$

Note that $h(0) = \sqrt{A(0, x_0)B(0, x_0)} > \lambda > 0$, hence the solution blows up in finite time. By solving the above differential inequality, we find that

$$h(t) \rightarrow +\infty, \quad \text{as } t \rightarrow T^* \leq \frac{1}{\lambda} \ln \frac{h(0)}{h(0) - \lambda}.$$

We notice the fact that $-u_x(t, q(t, x_0)) \geq h(t)$, which implies that $u_x \rightarrow -\infty$ as $t \rightarrow T^*$. Thus, the proof of Theorem 4 is completed. \square

Remark Compared with Theorem 2.3 presented in [27], Theorem 3.1 in [28] and Theorem 3.2 in [26], we found that checking the blow-up conditions involves the computation of two norm quantities $\|u_0\|_{L^2}$ and $\|u_0\|_{L^\infty}$, while our blow-up condition in Theorem 3 only involves the computation of $\|u_0\|_{L^2}$. Particularly interesting is that our blow-up condition in Theorem 4 does not involve any norms of u_0 at all. This shows that our blow-up results considerably extend the previous results established in [26–28].

Acknowledgements This work was supported by Natural Science Foundation of Hunan Province (No. 2018JJ2272), by the Scientific Research Fund of Hunan Provincial Education Department (Nos. 8C0721, 19B381) and Doctoral Research Fund of Hunan University of Arts and Science (No. 16BSQD04).

Data Availability Statement Not applicable.

Compliance with ethical standards

Conflict of interest The author declares that he has no conflict of interest.

References

1. Brandolese, L.: Local-in-space criteria for blowup in shallow water and dispersive rod equations. *Commun. Math. Phys.* **330**, 401–414 (2014)
2. Brandolese, L., Cortez, M.F.: Blowup issues for a class of nonlinear dispersive wave equations. *J. Differ. Equ.* **256**, 3981–3998 (2014)
3. Brandolese, L., Cortez, M.F.: On permanent and breaking waves in hyperelastic rods and rings. *J. Funct. Anal.* **266**, 6954–6987 (2014)
4. Camassa, R., Holm, D.D.: An integrable shallow water equation with peaked solitons. *Phys. Rev. Lett.* **71**, 1661–1664 (1993)
5. Constantin, A.: Existence of permanent and breaking waves for a shallow water equation: a geometric approach. *Ann. Inst. Fourier (Grenoble)* **71**, 321–362 (2000)
6. Constantin, A., Escher, J.: Wave breaking for nonlinear nonlocal shallow water equations. *Acta Math.* **71**, 229–243 (1998)
7. Constantin, A., Escher, J.: Global existence and blow-up for a shallow water equation. *Scuola Norm. Sup. Pisa Cl. Sci.* **26**, 303–328 (1998)
8. Constantin, A., Lannes, D.: The hydrodynamical relevance of the Camassa–Holm and Degasperis–Procesi equations. *Arch. Ration. Mech. Anal.* **192**, 165–186 (2009)
9. Degasperis, A., Holm, D.D., Hone, A.N.W.: A new integrable equation with peakon solution. *Theo. Math. Phys.* **133**, 1463–1474 (2002)
10. Degasperis, A., Procesi, M.: Asymptotic integrability. In: Degasperis, A., Gaeta, G. (eds.) *Symmetry and Perturbation Theory*, pp. 23–37. World Scientific, Singapore (1999)
11. Escher, J., Liu, Y., Yin, Z.: Global weak solutions and blow-up structure for the Degasperis–Procesi equation. *J. Funct. Anal.* **241**, 457–485 (2006)
12. Escher, J., Liu, Y., Yin, Z.: Shock waves and blow-up phenomena for the periodic Degasperis–Procesi equation. *Indiana Univ. Math. J.* **30**, 81–117 (2007)
13. Escher, J., Yin, Z.: On the initial boundary value problems for the Degasperis–Procesi equation. *Phys. Lett. A* **368**, 69–76 (2007)
14. Feola, R., Giuliani, F., Pasquali, S.: On the integrability of Degasperis–Procesi equation: control of the Sobolev norms and Birkhoff resonances. *J. Differ. Equ.* **266**(6), 3390–3437 (2019)
15. Feola, R., Giuliani, F., Procesi, M.: Reducible KAM Tori for the Degasperis–Procesi Equation. *Commun. Math. Phys.* **377**, 1681–1759 (2020)
16. Guo, Z.: Blow-up and global solutions to a new integrable model with two components. *J. Math. Anal. Appl.* **372**, 316–327 (2010)

17. Henry, D.: Infinite propagation speed for the Degasperis–Procesi equation. *J. Math. Anal. Appl.* **311**, 755–759 (2005)
18. Himonas, A.A., Holliman, C.: On well-posedness of the Degasperis–Procesi equation. *Discrete Contin. Dyn. Syst.* **31**, 469–488 (2011)
19. Johnson, R.S.: Camassa–Holm, Korteweg–de Vries and related models for water wave. *J. Fluid Mech.* **455**, 63–82 (2002)
20. Kato, T.: Quasi-linear equations of evolution, with applications to partial differential equations. In: *Spectral Theory and Differential Equations*. Lecture Notes in Math. **448**, Springer-Verlag, Berlin, pp. 25–70 (1975)
21. Lenells, J.: Traveling wave solutions of the Degasperis–Procesi equation. *J. Math. Anal. Appl.* **306**, 72–82 (2005)
22. Liu, Y., Yin, Z.: Global existence and blow-up phenomena for the Degasperis–Procesi equation. *Commun. Math. Phys.* **267**, 801–820 (2006)
23. Lin, Z., Liu, Y.: Stability of peakons for the Degasperis–Procesi equation. *Commun. Pure Appl. Math.* **62**, 125–146 (2009)
24. Lundmark, H., Szmigielski, J.: Multi-peakon solutions of the Degasperis–Procesi equation. *Inverse Probl.* **19**, 1241–1245 (2003)
25. Vakhnenko, V.O., Parkes, E.J.: Periodic and solitary-wave solutions of the Degasperis–Procesi equation. *Chaos Solitons Fractals* **20**, 1059–1073 (2004)
26. Wu, S., Escher, J., Yin, Z.: Global existence and blow-up phenomena for a weakly dissipative Degasperis–Procesi equation. *Discrete Contin. Dyn. Syst. B* **12**, 633–645 (2009)
27. Wu, X., Yin, Z.: Blow-up and decay of the solution of the weakly dissipative Degasperis–Procesi equation. *SIAM J. Math. Anal.* **40**, 475–490 (2008)
28. Wu, X., Yin, Z.: Blow-up phenomena and decay for the periodic Degasperis–Procesi equation with weak dissipation. *J. Nonlinear Math. Phys.* **15**, 28–49 (2008)
29. Yin, Z.: Global weak solutions to a new periodic integrable equation with peakon solutions. *J. Funct. Anal.* **212**, 182–194 (2004)
30. Yin, Z.: Global solutions to a new integrable equation with peakons. *Indiana Univ. Math. J.* **53**, 1189–1210 (2004)
31. Yin, Z.: On the Cauchy problem for an integrable equation with peakon solutions. *Illinois J. Math.* **47**, 649–666 (2003)
32. Yin, Z.: Global existence for a new periodic integrable equation. *J. Math. Anal. Appl.* **283**, 129–139 (2003)
33. Zhou, Y.: Blow-up phenomenon for the integrable Degasperis–Procesi equation. *Phys. Lett. A* **328**, 157–162 (2004)